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I Analysis of 24 half of Rw» — D377 'NWA NNXY NR MNP
a vxsource (v.1)
b  Death of husband: source
i Reasoning — he banned her he (by death) frees her
1  Block: not true about nvy
ii ~ Implication — limitation of nna (if no children) ->if there are children, may marry anyone
1 Block: perhaps if there are children, she may not marry anyone (even n2a’)
iii Implication: »’n3 disallowed from widow ->others are allowed
1 Block: perhaps the prohibition to 3"n3 is 15 and to others — weaker (?)
(a) Note: “weaker” has a model — wTpINN 2109, that maintain nmayy nry NO>R after 179, but lose nYryn
iv Text:v.2-
1 Block: perhaps the InR is the 1’ (only in case of no children)
(a) Defense:
(i) Language: InX never refers to 01’
(ii) Ancillary text: v. 3 juxtposes death to V)
I Analysis of 1t half of 2’0 — X212 NP1 NN
a Source:v.4 -
i Note: use of nn2> implies NN Yva as well as method
I Analysis of 2" half of X9’0 — D20 NP NYONA MDY NR NP IND
a  n¥on-source
i v.5—once there’s been n¥9n, she’s permitted to all of YR
1 objection: YR’ used to teach that it must be done in presence of YR’ Yv 772
(a) answer: that comes from other mention of YR’ (v. 6)
2 objection: requirement to declare YY1 pion 5910 YIon
(a) answer: that is derived from mw Rpn
b  pan nnMm —source —1"p from WR NVR:
i if wR NWR, violation of whom is more severe (pn) is freed Yvan nmona,
ii  Then:1"p, nn, violation of whom is far less severe (WY) is freed na’n nnna
1  Block: in case of wRk nwR, the one who banned her freed her
2 Answer: same here — the D2 banned her, his death frees her
iii Note: we can now argue:
1 77 to permit WX NWR via N¥'Yn (as above)
(a) block: text states mn»2 990 — only a 190 can excise
2 7 to permit nn via V) (inverse)
(a) blockl: text states N33 (v. 7) —makes indispensable directive
(i) challenge: v. 8 is used in re: npIN (::133), nonetheless, proposed expansion of command via 'p
(b) block2: v. 1 uses n% — only she (v'& nwR) is excised via v, not NN’
(i) challenge: nY is needed for nnwY
1. answer: 0% is written twice (24 time — in re: dissolution of 2" marriage)
(ii) Challenge: 0 is still needed to exclude a “double-v3” (nM12NY N5 8D 1Y)
(c) Block3: v. 7 implies that only a Y»1 can excise relationship, not anything else (e.g. v3)
(i) Challenge: 51 needed to teach that it can be owned by anyone but must generally fit him
1. answer: that is inferred from Y1 — the additional Ypin teaches the proprietary function of nx9n
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